/*[[

        Name := 2 way orders

        Author := 

        Link := 

        Notes := 

        Lots := 0.1

        Stop Loss := 70

        Take Profit := 90

        Trailing Stop := 70

]]*/

defines: 
Slippage(5),




sf(0),




risk(20),




addLot(1);

var: 

i(0),




lotsi(0),




dels(0),




p1(22),




p2(18),




Stoplos(0),




TrailingSto(0);

var:

sellO(0), sellSL(0), sellTP(0),




buyO(0), buySL(0), buyTP(0),




textVar("");

If FreeMargin<102 then Exit;

If CurTime - LastTradeTime < 180 Then Exit;

// ERASE BEFORE ACTIVATING 

// --------------- from here ------------------------------------

If TimeYear(time[0]) < 2004 Then Exit;

If TimeMonth(time[0]) != 1 Then Exit;

If TimeDay(time[0]) < 5 or TimeDay(time[0]) > 9 Then Exit;

// ----------------- to here ------------------------------------ 

//INCREASING LOTS WITH RISK LIMIT

If addLot<>0 then {


lotsi=Ceil(Balance*risk/10000)/10;


If lotsi > 1 then {



lotsi = Ceil(lotsi);


}


If lotsi > 50 then {



lotsi = 50;


}

} else {


lotsi=Lots;

}


// DETERMINE TRADING ENVELOPE

p1


=
stoploss/2+2;

p2


=
stoploss/2-3;

Stoplos

=
p1+p2;

TrailingSto
=
p1+p2;

// INITIAL TRADE

If TotalTrades<1 then {

        SetOrder(OP_BUYSTOP,lotsi,Bid+p1*Point,Slippage,Bid-p2*Point,Bid+TakeProfit*Point,CHARTREUSE);

        SetOrder(OP_SELLSTOP,lotsi,Bid-p2*Point,Slippage,Bid+p1*Point,Ask-TakeProfit*Point,RED);

        //SetOrder(OP_BUY,lotsi,Ask,Slippage,0,0,Chartreuse);

};

// SETTING TRAP

If TotalTrades=1 then {

        if OrderValue(1,VAL_TYPE)=OP_SELLSTOP or OrderValue(1,VAL_TYPE)=OP_SELL then {

        

buyO
= Ask+(p1+p2)*Point;

        

buySL
= Bid;

        

buyTP
= Bid+(p1+p2)*Point+TakeProfit*Point;

                SetOrder(OP_BUYSTOP,lotsi,Bid+(p1+p2)*Point,Slippage,Bid,Bid+(p1+p2)*Point+TakeProfit*Point,Chartreuse);

                Print("OPEN POSITION  BUYSTOP ",lotsi," lot ","PRICE ",buyO,"  S/L ",buySL,"- T/P ",buyTP);

                textVar = "BS "+buyO;                

                //SetText(time[0],buyO,textVar,CHARTREUSE);

                SetObjectText("bsText",textVar,"Arial",8,CHARTREUSE);

                MoveObject("bsText",OBJ_TEXT,time[0],buyO,time[0],buyO);

               
//Exit;

        };

        if OrderValue(1,VAL_TYPE)=OP_BUYSTOP or OrderValue(1,VAL_TYPE)=OP_BUY then {

        

sellO 
= Bid-(p1+p2)*Point;

        

sellSL
= Ask;

        

sellTP  = Ask-(p1+p2)*Point-TakeProfit*Point;

                SetOrder(OP_SELLSTOP,lotsi,Bid-(p1+p2)*Point,Slippage,Bid,Bid-(p1+p2)*Point-TakeProfit*Point,RED);

                Print("OPEN POSITION  SELLSTOP ",lotsi," lot ","PRICE ",sellO,"  S/L ",sellSL,"- T/P ",sellTP);

                textVar = "SS "+sellO;                

                //SetText(time[0],sellO,textVar,RED);

                SetObjectText("ssText",textVar,"Arial",8,RED);

                MoveObject("ssText",OBJ_TEXT,time[0],sellO,time[0],sellO);

                //Exit;

        };

};

// PROTECTING PROFIT

for i=1 to TotalTrades begin


If  Ord(i,VAL_TYPE)=OP_BUY then {



If (Ord(i,VAL_OPENPRICE)-Bid)>(TrailingSto*Point) then {




CloseOrder(Ord(i,VAL_TICKET),Ord(i,VAL_LOTS),Bid,Slippage,Yellow);




}

      
If (Bid-Ord(i,VAL_OPENPRICE))>(TrailingSto*Point) then {

         
If 
Ord(i,VAL_STOPLOSS)<(Bid-TrailingSto*Point) then {

            
buyO
= Ord(i,VAL_OPENPRICE);

            
buySL
= Bid-TrailingSto*Point;


            
ModifyOrder(Ord(i,VAL_TICKET),Ord(i,VAL_OPENPRICE),Bid-TrailingSto*Point,Ord(i,VAL_TAKEPROFIT),White);

            
//ModifyOrder(Ord(i,VAL_TICKET),Ord(i,VAL_OPENPRICE),Bid-TrailingSto*Point,Ord(i,VAL_TAKEPROFIT)+TrailingSto*Point,White);

                dels=Bid-TrailingSto*Point;

                textVar = "MO TS "+dels;                

                //SetText(time[0],dels,textVar,WHITE);

                SetObjectText("moText1",textVar,"Arial",8,WHITE);

                MoveObject("moText1",OBJ_TEXT,time[0],dels,time[0],dels);

                Print("SHIFT TRAILING STOP  ",Ord(i,VAL_TICKET)," - ",buyO,"  S/L ",buySL);




} else {

                dels=0;




};



};


};


If 
Ord(i,VAL_TYPE)=OP_SELL then {



If (Ask-Ord(i,VAL_OPENPRICE))>(TrailingSto*Point) then {




CloseOrder(Ord(i,VAL_TICKET),Ord(i,VAL_LOTS),Ask,Slippage,Yellow);




}



If (Ord(i,VAL_OPENPRICE)-Ask)>(TrailingSto*Point) then {




If  Ord(i,VAL_STOPLOSS)>(Ask+TrailingSto*Point) or

            
Ord(i,VAL_STOPLOSS)=0 then {

            
sellO
= Ord(i,VAL_OPENPRICE);

            
sellSL
= Ask+TrailingSto*Point;

            
ModifyOrder(Ord(i,VAL_TICKET),Ord(i,VAL_OPENPRICE),Ask+TrailingSto*Point,Ord(i,VAL_TAKEPROFIT),White);

            
//ModifyOrder(Ord(i,VAL_TICKET),Ord(i,VAL_OPENPRICE),Ask+TrailingSto*Point,Ord(i,VAL_TAKEPROFIT)-TrailingSto*Point,White);





dels=Ask+TrailingSto*Point;





textVar = "MO TS "+dels;                

                //SetText(time[0],dels,textVar,WHITE);

                SetObjectText("moText2",textVar,"Arial",8,WHITE);

                MoveObject("moText2",OBJ_TEXT,time[0],dels,time[0],dels);





Print("SHIFT TRAILING STOP  ",Ord(i,VAL_TICKET)," - ",sellO,"  S/L ",sellSL); 




} else {





dels=0;




};



};


};

End;     

// SHIFTING TRAP

for i=1 to TotalTrades {


if 
Ord(i,VAL_TYPE)=OP_SELLSTOP and dels<>0 then {



sellO = dels-sf*Point;



sellSL = dels+(StopLos-sf)*Point;



sellTP = dels-(TakeProfit+sf)*Point;


   
If 
Ord(i,VAL_STOPLOSS) <> 0 and Ord(i,VAL_TAKEPROFIT) <> 0 and Ord(i,VAL_OPENPRICE) <> sellO Then {


   

ModifyOrder(Ord(i,VAL_TICKET),dels-sf*Point,0,0,Blue);


   

Exit;


   
}


   
If Ord(i,VAL_STOPLOSS) = 0 and Ord(i,VAL_TAKEPROFIT) = 0 and Ord(i,VAL_OPENPRICE) = sellO Then {


   

ModifyOrder(Ord(i,VAL_TICKET),Ord(i,VAL_OPENPRICE),dels+(StopLos-sf)*Point,dels-(TakeProfit+sf)*Point,Blue);


   

Exit;



}

    
Print("MODIFY ORDER  SELL STOP ",Ord(i,VAL_TICKET)," - ",sellO,"  S/L ",sellSL,"- T/P ",sellTP );

    
textVar = "MO SS "+sellO;



//SetText(time[0],sellO,textVar,BLUE);



SetObjectText("moText2",textVar,"Arial",8,BLUE);

        MoveObject("moText2",OBJ_TEXT,time[0],dels,time[0],dels);


};


if 
Ord(i,VAL_TYPE)=OP_BUYSTOP and dels<>0 then {



buyO = dels+sf*Point;



buySL = dels-(StopLos-sf)*Point;



buyTP = dels+(TakeProfit+sf)*Point;

    
If Ord(i,VAL_STOPLOSS) <> 0 and Ord(i,VAL_TAKEPROFIT) <> 0 and Ord(i,VAL_OPENPRICE) <> buyO Then {

    

ModifyOrder(Ord(i,VAL_TICKET),dels+sf*Point,0,0,Blue);

    

Exit;

    
}   


    
If Ord(i,VAL_STOPLOSS) = 0 and Ord(i,VAL_TAKEPROFIT) = 0 and Ord(i,VAL_OPENPRICE) = buyO Then {

    

ModifyOrder(Ord(i,VAL_TICKET),Ord(i,VAL_OPENPRICE),dels-(StopLos-sf)*Point,dels+(TakeProfit+sf)*Point,Blue);

    

Exit;

    
}

    
Print("MODIFY ORDER  BUY STOP ",Ord(i,VAL_TICKET)," - ",buyO,"  S/L ",buySL,"- T/P ",buyTP );

    
textVar = "MO BS "+buyO;



//SetText(time[0],buyO,textVar,BLUE);



SetObjectText("moText1",textVar,"Arial",8,BLUE);

        MoveObject("moText1",OBJ_TEXT,time[0],dels,time[0],dels);


};

};

Exit;

